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QUESTION 1

What alternative exists for propagating SGTs when network devices do not have hardware support for TrustSec? 

A. SXP 

B. SGACL 

C. Cisco Discovery Protocol 

D. TrustSec Exchange Protocol 

Correct Answer: A 

 

QUESTION 2

What can you use to create a dynamic spoke-to-spoke tunnel in Cisco IWAN? 

A. DMVPN 

B. L2TP 

C. GETVPN 

D. FlexVPN 

Correct Answer: A 

 

QUESTION 3

What is Cisco Cloud Connector? 

A. a specialized hardware appliance, to enable cloud adoption 

B. software on or integrated with Cisco Enterprise routers, to enable or enhance a cloud service 

C. third-party software that is installed on an operating system, to make cloud services work 

D. a virtual appliance 

Correct Answer: B 

 

QUESTION 4

DMVPN builds tunnels in which two ways? (Choose two.) 

A. statically 

B. randomly 
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C. by requiring IKEv2 

D. by using dynamic spoke to spoke 

E. by using multipoint hub to spoke 

F. by using full mesh 

Correct Answer: DE 

 

QUESTION 5

Cisco PfRv2 simplifies the approximate number of lines of configuration that are needed for 200 sites from about 11,000
to which number? 

A. 90 

B. 1000 

C. 7000 

D. 20,000 

Correct Answer: A 
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